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# B T (t=4cm) A= 453.2 =453.2 nd
[y T]
BAEIRT. | (t=28cm) A= 23.8 |t
TR T (t=18cm) A= 23.8 |ni
AR T (t=10cm) A= 23.8 |ni




& % B O ' &
TS T
IR e HY A= 19.6
FErET (t=10cm) A= 40.6
# B T (t=4cm) A= 40.6
ST N o
EN s (A 1) A= 83.5 - 1.2 =82.3
P E (t=15cm) A= 83.5 - 1.2 =82.3
ARE R T (t=10cm) A= 85.1
# B T (t=3cm) A= 85.1




B AR i

RO | ) B HEE

HfEsF LIX No.1
FmBI4) #mB1(5) PR 7% 7t B = &
e FE R e .
aYE o - TERHiPADOERT (L) 172.1 m

W=15cm
SR No.0 +3.5 ~ No.2 +19.0 L= 575
No.0 +0.0 ~ No.2 +19.0 L= 61.8
= Hp No.0 +6.2 ~ No.2 +19.0 L= 52.8
W=15cm
x TSR (S1) 78 m
W=45cm
kA LD = 78
HEWTHRE L@ = 0.0
AR
(ER A1 = 38
AZFE 2 L= 2.0
AZFER-3 L= 2.0
H LD= 7.8 m
j(i L At =
DEER .
Wel5omba TREFHOER (Z1) 39.1 m
IEFENR) 19.5m (15em#aifE) X 1 fHFF L= 195 m
IEFNCN) 9.8m  (15ecm¥aEifh) X 2 P L= 196 m




ORE#xit TR (FHEMLE) FHER

oh 3 =
g | WKt LR el
%ﬁ“n’fﬁ ~erzmas |[W1Dem = m = 3000 m
=ikt €75  |W45cm = 8 m = 450 M
BSE|[¥IS W45¢cm = m = m
s - Al [mst-mmae) |W15cm = 170 m = 1000 m
PR |sasowsee [W1bocm = m = 900 m
9’{‘\"7_7 [epe——— A 5cm#ﬁ§ - 390 m = 400 m
Xto_b*%tﬁ st xe-esxz@e |W1 5cm?ﬁ§ - m - m
R o EH
NHX— o x 2 (xi/Di)=1—a =1/ % (xi/Di)
2 (xi/Di): 420/3000+3/450+40/1000+85/900 = 0.29] (1)~
o= 1 = 0.29 ) = 3.51
2 (xi/Di) = 0.285
o = 3.505
(MWHE X (xi/Di) < 05 —~EEREEERD1 20BESBRECH b, AHRIEEBT A% |
OFBHEMLEDOEIEER D'iX1/2 Xi
BRERUFHBELLTT LT EEEE
L] Ak -~ti& SEXE (MBELLTET LT D)
%15“?7? ~erz-zaas |[W1Dom = 0m = 0m
Z1EfR [£TJ5  |W4bcm = 14 m = 8 m
HESE [£J5  |[W45em L= 0m = 0m
g oAl [amat-mmae) |[W15cm = 298 m = 170 m
PREE  |smst-mmee |W15cm = 0m = 0m
B AN T— |susmwnsz@e |WI SCmm%: = 68 m = 39 m
7\t°_|‘v§.§tﬁ [ ———— A | 5cm?§§ = 0 m = 0 m
(2)¥IF 05= 2 (xi/Di) <1
OFBEMLDOEIEER D’ i= & Xxi Xi
5 3 = x I E¥E
1 Rk - <t ik BIEREFRE (HBBLLTEH ET3)
%ﬁ“?ﬁ ~erz-zaas |[W1Dom = Om = 0m
kR [£75  |W4bcm = 28 m = 8 m
[EE Rl Rk W45cm = 0m = 0m
g s MElE [mst-mmae) |W15cm = 596 m = 170 m
PR |susmsas [W15cm = Om = 0m
B AN T— |spsmensz@e W15cm?§§ = 137 m = 39 m
7\t°_|‘v§.§tﬁ st x-znxz@e W1 5cm?§§ = 0 m = 0 m




BOFE B - LR Sl L dE R R
BB B R ER
A Btk i TR H s T & i T H %k
5 TR HE( - F T % 1.0
HRIE - B A A 1.5
Aat 2.5
&R Ktk it T H i T i T %k
+T I T 180.9 - -
R (A—T"2) 32.8 - -
HET MU ET) 25.5 - -
FEmEIE 109.8 - -
BT | T 15emPA T 8.1 - -
SRR T 15cmPA T 256.4 - -
Ay ) — MR BUE T (HhR) ERA 2.4 - -
a7 — M BUE T () R 2.7 - -
AL |[AEES N T w718 27 - -
SREGERRR T a7 2 9.9 - -
e R T ey 7 AR 30.7 - -
et R ey /B 33.1 - -
Pk T | A EAEARE 3007 65.5 - -
) —hERIE T 51 - -
TL—F L JREL 6 - -
REWTA B E A EMENE 300%! 8.0 - -
WLV —F L ERE L 4 - -
LA 25.8 - -
B T.500 X 400 9.6 - -
S (P 250mm) 5 L 4.4 - -
/K PENo. 1 1 - -
£ /K BiNo. LFR £ 1 - -
K PENo.2z1 7Y — T % 1 - -
£ /K BiNo. 28 £ 1 - -
£k PENo. 31 7Y — T % 1 - -
£ /K BiNo. 38 £ 1 - -
Kk PENo. 4z 7Y — T % 1 - -
£ /K BiNo. 438 £ 1 - -
AEE T[RRI (EGE) 389.3 - -
R ] 214.9 - -
i U (A7) 2) 23.8 - -
T IE AR T i 235.6 - -
TERRETAN) Yz 23.8 - -
AT 13 240.3 - -
JE AT (AT Yz 23.8 - -
FET i 453.2 - -
PR T | FEHE W=15¢cm Rl 170 - -
77 W=45cm ralz I 8 - -
RE-FL T30 W=15emia®i RS 39 - -
it 23.2
3+ 23.2 X 2 A = 49 A




